Proving Triangles Using Coordinate Geometry
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Directions: Write a coordinate proof.

1. Prove that AABC is an isosceles triangle.
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2. Given: Coordinates of AACD and AACB
Prove: AACD =AACB
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3. Given: Coordinates of AABC and AEDC 55 S

Prove: AABC =AEDC s

A A$ D(m,2n) E(2m,2n)

Xxhace = XFed  “erlwa) x ;
Theqgre m clm

X« Y X
DCm,2n) E'(ar:,i'::

M= An-AN - g =0 _
amn - M ™ De /Il AR
X\ Y. XY
Al(g.@) Blno ¥ %A ZEXE Mlervae dwukror
m= 9"—C’—=%=a X. Twearem

on -8



A(o, ) Clon ) £Bm. A Ccln.)

*o Y At Yz XY *e Ve
d= Jtm- D + (n-Q A= J(""RMV* ('J"lNY.
= ¥ (en)t ¥ = \)(-M\""’C-:ﬁt

= Jmugt = J mlent

X Ac = Zc
Since XABSXECO, XASXE ond AC = EC
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